
-1-

10

US_CA

11
IN240400010V01_GL

11111837-490V00



-2-



-3-



-4-

EXPLOSION FIGURE

1

2
356

7

8

9

10

14

13
11

16

12

14

12

15

17

17

8

4



-5-

1 01 2 01

4 01

7 01

10 01

3 01

5 01 6 01

8 02 9 01

11 01 12 02

13 01 14 02 15 01

16 01 17 02



-6-

A 24
Ø7*29

+1 (spare)

B 23
6*30Ø

+1 (spare)

C 24
15*    01Ø

+1 (spare)

P 13
M4*30

+1 (spare)

 I 13
3.5*14M

+1 (spare)

Q 16
M4*20

+1 (spare)

T 02
110L

U 04
4*18M

H 01
L190*13*1

K 05
6*30

M 01
D2

N 02
Ø5*25

X 16
M3*16

+1 (spare)

V 02
Ø8*25

J 04
L54*43*1

Y 06
86*15*46



-7-

01

02

Ø
A 24

7*29

Ø
B 10

6*30 1

2

3

5

7

9

3
A

A

turn over 180

A

B
B

V

V

A

A

B

B B

V 02
Ø8*25

B

*2
*2

Ø
B 13

6*30

8

11

12

13



-8-

03

04

M 01
D2

N 02
Ø5*25

X 06
M3*16

N

M

M

X

X

NT
U

15

T 02
110L

U 04
4*18M

X

X

X 10
M3*16

15

17

16

17



-9-

5

05

06

4
3

2

7

8

C

C

C

C 08
Φ15*10

8

C

C 04
Φ15*10

6



-10-

07

08C 08
Φ15*10

15

C

C 1



09

10

C 08
Φ15*10

-11-

14

14
13

12

11

12

C

H
I

9

H 01
L190*13*1

 I 01
3.5*14M

Q

Q 16
M4*20



11

-12-

P 08
M4*30

I
J

 I 01
3.5*14M

J 04
L54*43*1

12

P10



-13-

Done

13

K
P

70
CM

K
P

K
P

K
P

K

69.
8CM

44
.8
CM

P

99
CM

P 05
M4*30

K 05
6*30

WALL

Y

Y 06
86*15*46



-14-


